Lesson 3-4
Use the draw a diagram strategy.

CLOTHES Marta is packing for a trip. She is taking 2 pairs of pants, 3 blouses and 2 jackets. How many different outfits can she create from these items?
Understand Marta is packing 2 pairs of pants, 3 blouses, and 2 jackets.

Plan You want to find the total number of different outfits she can create. Make a diagram. 

Solve Make a diagram. Count the number of outfits. 
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Check The expression 2 · 3 represents the total number of pants and blouse combinations. Since there are two jackets, this total can be doubled. There are 2(2 · 3) or12 possible outfits. 
